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C/C++ 73919 :’N P50
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#define N 20

char *str = "abcdef";

char s[N];

(111523 20) 2 9991 NYNY
: ININ HITHIND MINM

NI YOP DI .97 MITHIND INND WD TIP YOP NY ,DONAN DXPYONN THN I3
NN NI2 PINT DWW ¥ DIDYONN TNX D2 .DMINKD DOOPA MNON 1IN INNISY

cout << str+2 << endl;

inti=0;

for (i=0; i<N; ++i)
s[i] ="'A" +1i;

s[6] ="0";

cout << s << endl;

2

X g2
strepy(s, " ")

str=s;
strepy(str, "xyz");

cout << s;
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(M3 20) 3 999N NINY
NN MSPHN DPONN INM

#define N 25
class string{
char str[N];
public:
string(const char *s);
void add(const char *s); // (N)
void add(const string &s); //(2)
void print() const { cout<<str<<end]; }
B
void main(){
string s1("stringl."), s2("string2.");
char *s3="string3.";
sl.add(s3);
s2.add(s1); // ()
s2.print();
}

NN MNPNN .(N) 2 NIMONN add PPN X VRN W (MMP) 10) (N
1221 NPHNNA OX IDIDI) .APINNT NHINKD LIPN NHINK NN IWIYD

N2 25 DWY v ("Xxyy" DIND NN NPYNNN yy? NODPY XX
STIWNRN MNDN NIND

PPN PPaN () 2 MMLNN add NP9 DX WHnd v (MMP) 3) (2
VPN TONIAD NYAPN N PEPNAY TID VD R PYDN TPIPNAY NN
N 9op0n NEPNAY NIPY NN .NIIND NI string NON

NPIPNMNNIVX .add MIPND OXNP () 2 MHMONN NNV (MM 4)
120N INIPN DNIANOY

MOYTN main PPN NN (MNP 3) (T
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VHDL :73 750

(5 - 10 m5NY) MNAN MINYA 6 TINN ,1ab3 mONY 3 Dy mays v

(5717923 20) 5 9991 nHNY

: TINAD NIDINND NN

NYDION ,NNNIN IIMNNND INIPNY DIINT NN PITHI N0 v (MNP) 10) (X
19792 DXVWIN DY TAPNY NI . NIPNN #DOINNM "DIINIVPNIN DI DY DIV

library ieee;
use ieee.std logic_1164.all;
entity dff is
port (clk, rst: in std_logic;
d: in std_logic;
g: out std_logic);
end;

architecture rtl of dff is

begin
process (rst, clk)
begin
if rst='1l' then g<= '0';
elsif clk'event and clk = 'l' then
g<= d;
end if;

end process;

end;

library ieee;
use ieee.std_logic_1164.all;
use ieee.std_logic_arith.all;
use ieee.std_logic_unsigned.all;
entity testbSA is
GENERIC (Size: INTEGER:= 4);
port(d, clk, rst: in std_logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for_gen of test5A is
COMPONENT dff
port(clk, rst: in std_logic; g :out std_logic);

end component;
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SIGNAL gSig: std_logic_vector (Size-1 DOWNTO 0):= (others=>'0"');

SIGNAL dsig: std_logic_vector (Size-1 DOWNTO 0) := (others=>'0"');
begin
dsig(0)<=d;
out_loop: FOR i in 0 to size-1 GENERATE
boxs: dff port map(d=>dSig(i), clk=>clk, rst=> rst,
g=>gSig(i));
end GENERATE out_loop;
dsig(1l)<= gsig(0) XNOR gsig(3);
dsig(2)<= gsig(l) XOR gsig(O0);
dsig(3)<= gsig(2) XNOR gsig(l);
g<=gSig;
end;

, DMWY DM90NT MMININN YV DIRINN NITO IR DIV ¥ (MM 10) (1

‘1" n5apn d no2om ,0 -n Reset NN N NN NOWnnY NMND JN2 IWUND
Y IINN MPN OX .ININND IR DY ,70NNND R NITO DN NP 19N
A0 -n H919) 1252 DNMWYNIN DN 8 NN DIV
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(M1 20) 6 499N NHNY

Anput = 710007 : 1311 D9OYON 953 YR ,NNIAN NINNND NNM
O div_by VY91 YV DVIN MMNY NN POXY ON PN MRIIVLN NN DYYND W

VNI PIYYN NN NYDIT 219D I8P DIDN MY NN W .count -2
library ieee;
use ieee.STD_LOGIC_1164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic) ;
end div;
architecture div of div is
signal count: std_logic_vector(size-1 downto 0);

begin
process (rst, clk)
begin
if rst = '1l' then
count<= input;
div_by<='1";
elsif clk'event and clk = 'l' then
if count = 1 then
count<=input;
div_by<='0";
else
if count > SHR(input,"01")-1 then
div_by<='0";
else
div_by<='1";
end if;
count<=count-1;
end if;
end if;
end process;
end;
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MY NI2ANN2 DYV PINY ¥ NNV IND DYDY DN My (MmN 10) (N
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(19 20) 7 9991 nHNY
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A

dir=1° /'*'\\

{ |
din=1’
¢ \)" dir=" 0 ‘.(7/;\\\
\\H./ v \\_/

din=0

dirr1’

ENTITY test7 IS
PORT (rst, clk: OUT bit;
din: OUT bit;
otp: IN bit);
END;
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(M1 20) 8 99910 NHNY
: N2D PYNNRN P

LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD_LOGIC;

vec: IN STD LOGIC_ vector (3 downto 0);

ones: OUT STD_LOGIC_ vector (2 downto 0));
END;
VEC N1202 DYTNND I90N NX NADNY NINTNIINN IndY v (MmN 10) (N

LOIPIMION T2 WNNYND IMN Y0 MINNIV

M MMNY W .NITYINED ARNPHI NNVPVIIN POINY v, nyd (M) 10) (2

VEC NYTN NDD NYHN PYY MNN Do1

YO ISV D T Y9 DINNND TIPN OPYN Yo H1TIY NPINRD PYY
T2 791D 7PN NA NVOWA NN PIAYL PA0NY
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Y123 20) 9 99010 NONY
213 IDINND INVPNY NIIND NIX PNY v (MNP 10) (N

LTIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY testO9A_What IS
PORT(clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);
END;

ARCHITECTURE arc OF test09A What IS
SIGNAL a, b, c: std_logic;

BEGIN
otp<= ¢ AND b WHEN inp='1l' ELSE
a;
process (clk, rst)
begin

if rst= 'l' then
a<= '1l'; bg= '0';
elsif rising edge(clk) then
a<=inp; b<= a; c<=b OR a;
end if;
end process;
end;

YT TN INVNY TIINND IR XY v (M) 10) (2
LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09B What ‘IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std logic) ;
END;
ARCHITECTURE arc OF test09B_What IS
SIGNAL a, b, c: std_logic;
BEGIN
process {clk)
begin
if rising edge(clk) then
a<= 1inp2; otp<= b; c<=a XOR b;
end if;
end process;
b<= inpl WHEN inp2= 'l' ELSE
oF
end;

13 790 12 Ny



2008 1p 90729
(M3 20) 10 4991 NNV
DY DOVIPN D¥oNN TP 1IN NON Y NINRYA
d1 1 d i d2 L d 1
\ ¢ q ql N € q | q2
By B
I I
d(1) <= q(2) XOR q(3);
d3 d q3
T B d(2) <= q(1) AND g(3);
q
.a>. ‘ d(3) <= q(2) OR q(1) WHEN d(2)=d(1) ELSE
' d(1);
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